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In the left panel of Figure 1 from Karagas et al. (2000), below 1 µg/L water arsenic, the black regression line extends from (0.001, 0.065) to (0.99, 0.089) on the log10 scale. Therefore, the equation for the black regression line is as follows:
log10(0.065) = a + b * log10(0.001), log10(0.089) = a + b * log10(0.99).

Solving for coefficients a and b yields the following equation:
0.04557 * log10(water) = 1.0504 + log10(toenail).

This equation can be converted to the arithmetic scale as follows:
water = 10(21.944) * (1.0504 + log10(toenail)).

In the right panel of Figure 1 from Karagas et al. (2000), above 1 µg/L water arsenic, the black regression line extends from (1.0, 0.084), (100, 0.443) on the log10 scale. Therefore, the equation for the black regression line is as follows:
log10(0.084) = a + b * log10(1.0), log10(0.443) = a + b * log10(100).

Solving for coefficients a and b yields the following equation:
0.36106 * log10(water) = 1.07572 + log10(toenail).

This equation can be converted to the arithmetic scale as follows:
water = 10(2.7696) * (1.07572 + log10(toenail)).


